
EDGE single-lever kitchen faucet with swivel spout; 
veggie spray

Finish: chrome
Article number: 6010 1 00 2

Finish: stainless steel
Article number: 6010 1 80 2

ITEM DESCRIPTION PART NO. QTY
1 Schwenkauslauf SPT I2A-010-00121XXX 1
2 Geschirrbrause kompl HD M005357XXX 1
3 Hebel Edge I2A-010-00174 1
4 Kugelhaube A016166XXX 1
5 Schraube M37x1 D014351 1
6 Kartusche KN-35A PVD+ 1
7 Schaft SPT EHM AUSZ-BRA I2A-110-00019 1
8 Anschlagplatte 635225 1
9 Schulterschraube M6x0,75 635220 1
10 Gleitring D43-40x4 633587 2
11 O-Ring 34,59x2,62 A007401 1
12 Gewindestift M5x7 D011791 1
13 Stopfen A014575XXX 1
14 Dichtung 12,7-7x3 A022300 1
15 O-Ring 12x1,5 A008438 1
16 Klemmring A022573 1
17 Anschlussnippel A022541 1
18 Steckschlauch M12x1x1400 A022940 1
19 Dichtungsring 33,5x48x2 A003744 1
20 Verstaerkungsflansch A009674 1
21 Scheibe D015007 1
22 Flachmutter M33x1,5 D017038 1
23 Schlauchfuehrung 634279 1
24 Schraube M6x25 ISO 7047 2
25 Anschlussrohr kompl M10x1-M14x1 M005405 1
26 Uebergangsnippel mit Dichtung I2A-110-00030 1
27 Rueckzugsgewicht kompl. M005337 1
28 Druckschlauch M8x1-9-16x650-hot I2A-010-00080 1
29 Druckschlauch M8x1-9-16x650 I2A-010-00079 1

2928

2

13

12

3

4

5

6

7

8

9

 10 (2x)

11

19

20

21

22

24 (2x) 

25

1

18

14

15

16

17

23

27

26



EDGE single-lever kitchen faucet with swivel spout; 
veggie spray

Finish: chrome
Article number: 6010 1 00 2

Finish: stainless steel
Article number: 6010 1 80 2

0.
61

1.97

6.
16

8 .12

10

9/16"-24UNEF-2B

9.
4

3.79


